=L =

X n+ %

1. T 4 B A/ NP RN B RE BT sk R e L5

2. e T %5 B BAEFTELMNTH31I—1

3 T E:ti ZRKRE RS af 54 1H  31HZET
S T 2L frs cs

TUE I FR R BRAH e T %




BE AL NFEARAR B B BT R fes T T E AT FE R AR
iRt (LHE) 4 9,793,300 4
T 5 il #% 4 8,903,000 4
(EEAE TR K & 890,300




4 W B AL/ N AR B AR R AT B s T [ KHMER] No.
4 g ] D m| HAfL Bl & KA 1
[ERERES
BRI T K 6,000,442
[ERARE 6 6,000,442
Heim sy
s R Y 181,579
0 | BGEeE = 1,482,248
m | —EHgE = 1,239,313
IEE 2,903,140
&t 8,903,582
T =ik TRV EET 8,903,000
THE B 4 KA 890,300
WA (TEE) 9,793,300




4 W B AL/ N AR B AR R AT B s T [FFNER] No.
4 g ] D m| HAfL Bl & KA i
BRI T
1 |BITHEsE T 1=1) EAT 531 Y 5,612,741
1-2) 3o Myl = 28,860
2 |TreHkEEZERmSE T 2V 358,841
&t 6,000,442




